- KCPE 2006 MATHEMATICS

1. What is 73121025 written in words?

A Seven million three buodred and fwelve

 thousand one hundred and tweaty five.

B. Seventy three million one hundred and twenty
one thousand and twenty five.

C. Seven hundred and thirty one million two
hundred and ten thousand and twenty five.

D. Seventy three million twelve thousand .ome
bondred and fwenty five.
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figure below lines PQ, RQ and SQ have been
cofstructed to meet a1t Q.

»

P,

What s the size of angle SQR?
A 63
B. 14
c ur
D. 125°

5, whs wms:hemofthommmmcfmmm
the hundreds and ten thousands positions in the
number 5935827
A. 95000
B. 50500
C. 10100
D. 550

simple interest rate of 5% per month. How much did
he pay back altogether at the end of one year?

A. 3h32000

B. sh21000

C. sh 20060

D. sh 12000

-~ 8.-The heights-in. centimetres of 10 pupils are givea
below: - -

169, 173, 158, 170, 159, 171, 163, 159, 180, 167

What is the mean height of the pupils?
A 159cm

B. 1669cm

C. 168em .

.D. 1669cm

5. What is the next number in the pattern:

e et

12, 24, 48
- A 60

10. The decimals 0-09402, 0-09042, 009024, 0-09204 az=
to be written from the largest to the smallest. Whick
one of the following is the correct ordeg?

11. Awphtoflmmwmb_y




12.

13.

14,

15.

16.

In the year 2002, the number of pupils in a school
was 800. In 2003 the number of pupils increased by
40%. How miany pupils were there in 2003?

A 30
B. 430
C. &40
D. 1120

A pupil inteads to add the fractions §, § dnd §.
Which one of the following numbers should she
choosc a3 the least common dencminator? :

A 56

B. 48

C. 168

D. 336

Mukami had 135 two hundred shillings notes which
she changed as follows:

sh 21 000 into one thousand shillings notes
sh 3000 into five lundred shillings notes
sh 2000 into one kundred shillings notes and

the remaining amount of money into fifty shillings
notes..

How many notes did she get altogether?
A 67
B. &4
C. 47
D. 2%

A distance of 5 kilometres is represented on a map

by 2 length of 4 centimetres. What is the scale used?
A 15125

B. 1:1250

C. 1:12500

D. 1:125000

What is the value of %37 -7 + 63 + 77,
A 16 :
B. 23

c

D. 114

What is the value ‘of x in the equation
1x+4=13-x17

A 68

36
7
4

13

oop

18. Mulz sold an item for sh 9900 and inade a loss of

|19,

21.

22.

10'A.Whumthempnccotthemm?
A. sh11000
B. sh 9910
C. sh 9000
D. sh 8910

Twenty litres of milk was given to a class of 50
pupils to share equally. Howmanyduuhmuornulk

What is the value of 0-6-0-4 X 0-23 - 0-017
A. 0036
B. 0-044
C. 0498

A certain quadrilateral has the following properties:

Has two sets of paraliei sides

Has all sides equal
Diagonais bisect each other 2
Some angles are equal

Whnhqudrﬂawralhanbeabowymmm?
A. Parallelpgram
B. Rhombus

C. Square
D. Trapezium

AnmoplancleﬂtownFatZZ?:Oh'onidonday (3
took Bi‘bountomdtmwnx.wmmi%m
town K7 . -

A. Tuesday 7.15a.m.

B. Tuesday 7.15 p.m.

C. Monday 7.15a.m.

D. Monday 7.15 p.m.

What is the square root of 0-05767
A. 00024

B. 0024

C o4

D. 24

What is the volume, in cm?, of a linder
dumetcr-ldmnndhushtwcm? Tllht
A 6160
B. 1540
C. 748
D. 440



Mbogo got + of the money shared cut. What was

B %1
C 34
D. 13 :

26. Onyango peid sh950 for an item after getting a
discount of-sh 5. What percentage discount did he
==
A Fh_

B. 52%
. Si%

ﬂmﬁmmwmd“m‘““‘m
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Wht e the langth of balf the louger dizgons!?
A Jem
B. 4cm
C. bacm-
. Sm

28. Samira bouight the Following items:

Five haif-lirre packets of milk @ sh 30
T'wo crates of sode @ sh 320 ;
Tweniy five loaves of bread @ sh 23
Adui gy Sew o &

ummmmmmmﬂ‘*
remain with? 3

‘A, sh1602
B. sh 1390
C. sh 635
D. sh 610
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consmmpiion the bighest?

A. Mon and Tos
B. Toeand Wed
C. Wed snd Thur
D. Thur and £

m A youth group arganised a film sliow to raise fmmds.

“Two hundmi and eighly men attended the Sipr -
show, Thcumbqofwomwhowmdedwaw
the mumber of men, while the number of youths wax
three times the sumber of both men and Women.

mwmwmmmmmmw--

- youth. How much money was raised?

A sh46200
B. sh37800
C. sh25200.

D. sh21000



31. In the figure below, JK =JL=25cm and KM=ML. | 34, An open cylindrical tin of diameter 14 cm and

+ The perimeter of triangle JKL =98 cm. height 21 cm was outside. What was.
the area painted? [Take
A. 3234 o
B. 2464 c?
C. 1232 em?
D. 1078 ap’
35. What is the value of H0' 498 iven that 1.6,
r+q :
T .p=r+2andq=p-3?
K M _ B A 563
What is the length of the perpendicular line JM in B. 38&
centimetres? £
A 25 C 3
B. 24,
C. 12 D. 0%
D 7 o
e ; A 36. Asha-and Musa are sslespersons employed by two
32. Which one of the following expressions is equal to different companies. Asha’s company pays her a
- monthly salary of sh [ 500 and a 21% commission
o= Amr i), on goods she sclls above sh 10 000. :
3(4a ~ 36} +Xa +4b) Musa’s company only gives him a 6% commission
A ekl on all goods he sells. ,
152 +3b ; On a certain month Asha and Musa each sold goods
p. 3+25% worth sh 40 000. How much more money was Musa
6+12b paid than Asha? r
o Isasatb A. sh2400
152 +21b " B. sh225%
152 +2b : C. sh 900
15Sa+b - D. sh 150
33, The follawing table shows the commission charged | 37, What is the value of 13 +1x2 +§7
whea one buys postal orders. : A5
VALUE OF ORDER | COMMISSION B. 3%
(sh) (sh) C. 3%
100-00 1100 ‘ D. 73
200-00 12:00 ;
300-00 23.00 L : Hy
400-00 ' 39-00 38. A pick-up whose mass is one tonne when empty was
- loaded with 40 bags of sugar each weighing 50 kg
: ; and three bags of maize cach weighing 65 kg.
ornders.
Waageck wambec €3.s5md 5 T L powal ol = 8 What was the total mass, in tonnes, of the loaded
balow should she buy in order to pay the least pick-up?
commission? A, 3195
A. sh 400+ sh 300 B. 3065
B. sh400 + sh 100 + sh 100 + sh 100 : C. 30
C. sh 300 + sh 300 + sh 100 : D. 2195

D. sh 200 + sh 200 + sh 200 + sh 100




39. In a relay race Obong’o ran 600 w, which is % of the Working Space
mce,mSmmmenlotook$mutwto

. complete the rest of the race. : .
T e
T S . ABD is a right aggle.

~ B. 3} | e Qo : A
.C. .33
D. .34 t

40, Foxiytwomenmhmdtorcpnrastrmhofmd
in 14 days. How many more men should be hired if
A-thcw;tkwtobcﬁmhedmlldayﬂ
R. .7
C. 49
D. §1

4l The number of women passengers in & bus was W.
Thé nnmber of children i the bus was three times 'l 5

that of men passengers but was § more than that of " What is the size of angle EDF?
women, P
B. 45

Which one of the following expressions shows the
tora! number of passengers in the bus? : g.}‘ﬂ;

Al 27W+8
B. 2iW-8
C. 2{W+12
D. SW+24

« The graph below shows Muli's journey from tawn X
to town Y. ;
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What was the average speed, in kmvh, for the whole

A Tl
B. 70
C. 643
D. 443
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What is the radius of the circle?

1 f vop»
Al 5;5:&
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47. Kamau, Wasike and Omollo sell newspapers. One
day Omollo sold 20 newspapers more than Wasike
who sald 10 newspapers more than Kaman.

The total number of newspapers they sold that day
was 140,

If Wasike sold y newspapers, which one of the
following equations can be used to find the mumber
of newspapers.sold by Wasike? ;

A Jy+10=140

B. Iy+30=140

C..3y+20=140

D. “y+30=140

43. Moraa shared moneymona her four childres,
Muta, Somo, Nduta and Aroya. Muta got § of the
money while Somo got ¥ of the remainder. The sest:
What fraction of the money did Aroya get?

A

N w

o
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tailor had 17-5m “of cloth material. From-this:
erial she made 2 dresses each requiring 3-75mof
3 jackets each requiring 24m of
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50. An incomplete pattern is shown below. _ " Working Space
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thd;oncoftheshapesbelowmllcompletethe R
pattern above? o
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